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, and if hanhari is 629, you pick kanejyaku’s 1% point and side

slope of tan15°
Ssun,

And you measure 6° , you get the length of the Tharuki.

You assume the length of the hanhari 5342, taruki is 3542.

On another, you pick hanhari's 108416542 point and tsukaki’s 1024134 point and
kanejyaku’s handle, and that’s tenfold is the length of taruki.

This theorem assume of decrease if large of long, should expand after.

And cut the sumiki, you pinch kanejyaku’s side of 5sun point and you majeure 6° , it
will the length of the sumiki.

Or because hanhari is 6%, you measure 6° .

And if it’s1¥°, you measure 10° .

In the same time, Taruki is the inclination of 5 sun if the inclination is 6 sun and Hanhari
is 1 zixyo, Enoki is 6 shaku.

Other do like it.

One: The length of Tatuki, Shumiki, and Shinoki can use any one.

One: The length of Hanhari decides the length of the book of Haisha.

One: When the slope is 15 centimeter ,the length of Hanhari and Thukaki is the length of
Shumiki.

One: Thukaki is 1 zixyo 4 shaku 4 sun 6 bu when Hanhari is 1 zixyo, the slope is 3 sun,
and Enoki is 3 shaku.

One: Thukaki is1 zixyo 4 shaku 7 sun when Hanhari is 4 shaku, the slope is 4 sun, and
Enoki is 4 shaku.

One: Thukaki is 1 zixyo 5 shaku 3 sun 6 bu when the slope is 6 sun, Hanhari is 1 zixyo,
and Enoki is 6 shaku.

One: Thukaki is 1 zixyo 5 shaku 8 sun when the slope is 7 sun, Hanhari is 1 zixyo, and
Thukaki is 7 shaku.

One: Thukaki is 1 zixyo 6 shaku 2 sun 5 bu when the slope is 8 sun, Hanhari is 1 zixyo,
and Thukaki is 8 shaku.

If the any length is given to Shumiki, Shumiki spreads on the length and the area of
Hanhari.
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By theorem, tukaki+hanhari=sumiki 3svaku +Gsyaku =gsyaku

You knew that inclination is tan15 and hanhari's length is 6svaku
Kyakusyaku=1s¥2ku yokote=5sun

You pinch it and measure 6° You can find taruki's length.

That is the square of 1+ the square of 0.5 X 6=taruki=6.71svaku

This is based on Pythagoras's theorem

You knew AD=9svaku AC=3svaku.

The square of 9 = the square of 3 + the square of xThe square of x = 72
By x> 0, x=6V2.

You knew BD=6%v2ku CD=6svaky,

The square of x=the square of 6 + the square of 6 =72 By x>0, x=6V2
You can said the opposite of Pythagoras's theorem.

£ ADC=ZBDC=90°

By under the picture, You knew AD= 3svaku DC=gsyaku

The square of x = the square of 3 + the square of 6 =45 By x>0, x=3Vv5 V
5= 2.23503V5=6.71%vku

You can said the opposite of Pythagoras's theorem ZADC=90°

You can think that Pythagoras's theorem connects that things.

Summary

We understood that this Wazan demand the length of a
pillarka (Taruki) .

And use Pythagoras' theorem in this case.

Future probrem
We should compile English transration more bliety.
We should express living language reason more cleary.

Impression

We felt that it is difficult to transpose one thing for
many thing and that old people use math which

they learn for their life.
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